l)v(‘lmz ZXG(‘\’LL, - P(K\

Ik

| N
Cdve ML & RE6
VaeDEA, L(4) = x P o= x| e B inGuleod]

A 70; MSM@,‘

emmg 3P, Vxeres. P(f}

N\

— X & REG Je. Vacoep, P( L(i\) P2 Lawe = Prp
Fr. Veeors, P'(d) € 1 DFA>7rop

,,S"m%e— & o phs sk w (,\4, W& L(L\)
_How many chales  ooll & vt lur;"lg Tt oD

[ﬂ— / )wl+ﬂ_]
froe 4 g Mshbke and W= 017200
['1_. ) mm(l@( ;lb/l\—’l.}j = Eilk'\]
PR £
\> Q/ /—’: 2 Ve
N A - R IR
e ——
i € veL(*‘-) lX\ could be ©

G"ZB B=C @w =xy2 ‘ {2 could be O
| 16w EL((B(XPA\/@\X%\ < @) B Wyl >0 - P’

and |\ 7 ]Q) =7
QD xz el (L) L xyy= eL(d)
VieN, Xy 2 e L(d)

- '}fQ‘N . P (H’?lt&(e |l Wity J>>




ngvlc\\“ PUMPMﬂ P!\OFQPLj (R?P)

o (p,: Q.o\vxg\;oxge, owefr i) - ?""P .=

:,\L? e N,
Vet | (vl 7> p)
3 (x,y,7 € 27 ‘ we=xgyz A Ixy| £p A |3\>O>,
Vew.
xyrz €W,
;;(VQGREG‘ RPP(4)> < previevs page (P"—\Q\ , xyz e basd obra)
[TIReR(A) =
| Vo e,
Tlwenr | o1 =8 |
V(e €2 | ame n Ll e o [4150)

Fiew,
¥yiz & A,
A: 10" 62 - given: p Cehoose + w = 40%04
qiven L X,y R v =xyz I xyl $p lyl >0
x=40" z2=0"04 arb =p
1+ o< p = 10° sijé < c+d
tinde ‘

xylz= 10070 04  cadirb &N

«




+-3 C ( (MY, § Racker

C (-3 (\ ( ('\\\ GKHCKET ~ M7 ¢ (aw\f’lt‘\h(\
‘ o oM (Taked
CX)) ‘( é‘ WH’SH - ok (C P
CCD ¢ BAR Y = (“ )r\
00 14 & ham - 0”1
: Mx~ sym= O
while ((can € = gebe)) = o) = TRASH

\\(\ (C\ Z' QVMF’f‘/\ ’S e_(ﬁé §§um ”*}\’S 3
’ M#wﬂ (gw'—\‘-:CDS 1‘

< o
> S N S - <
—

TEASH~ % N @ Q .
- - O Z = ©
S = -

« o |

PsM & REG
coen ¢ P Omese f v = O'LT lui=%p
Gunt xy 2 , w=xy= , Ixyl<e lyl>o
x= 0% y-=0" ==0°4'
a+d <p arbte =P b>o
X\g;’i _ Oo\ OMO‘ 1? - Oo\’rb? =c 1?
¢ % Aswm 8 a+rbi+cC =p
bi-b =0 LG =\ =0
=
Choose ¢ ) 1

| — 7 Bsm A REC
. ‘ and REG ~ ALL




S

-

i
]
¢
H

B S p— . - .

P
B




